Bubnnoteka COK

149AE

MINI EOLO 24 3 E

15/09/10

4254997 |3.020853

EMMERGAS



https://www.c-o-k.ru/library/instructions/brands

CODE

DESCRIPTION

SERIAL NUMBER START OF
SERIES

A OWNEFE

©oo~NO Ul

10
11

13
14

15
16

17
18
18
19
20
21
22
23
24
25
26
27
28
28
29
30
31

32
33
34
35
36
37
37
38
39
39
40
41
42

43
44
45
46
47
48
49
50
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
65
66

67
68
69

3.012552
3.015861
3.020072
3.020105
3.021739
1.010337
1.021829
3.021021
1.0110

1.025986
1.011057
1.011141
3.A0120
1.012711
1.015138
1.014373
1.0152

1.015498
1.010289

1.013154
1.016246

1.017228
nfs
3.021695
1.017529
1.026486
1.027009
1.025894
1.029601
1.1630
1.028551
1.021464
1.029280
nfs
3.021696
1.027215
1.021762
1.028547

1.021852
1.028880
1.028557
1.023434
1.022522
nfs
3.021695
1.028552
nfs
3.021695
3.A1124
1.028229
1.2275

1.028794
1.027110
1.4246
1.028554
1.5899
1.025064
1.020426
2.010352
2.012852
1.2170
1.025380
2.014014
1.021517
2.014512
2.014254
2.014261
1.028241
1.013186
1.014365
1.015791
1.028100
1.028101
1.028099
1.026314
1.026355
1.2402

2.014219
2.014221

2.013862

G20 gas conversion kit

LPG gas conversion kit

Complete control panel

Hydraulic assembly

Complete control panel

Air pressure switch

Clip for exchanger pipes

Ignition electrode group
Crossheaded flat pointed self-tapping

screw (4,2x13)

Silicone pipe (4x8)

Pressure point screw

Silicone O-ring (17,86x2,62, 70 sh)
Gasket kit (3/4")

Self-centring gasket

Expansion vessel (6 litres)

"Y" hose union

Crossheaded self-tapping screw
(3,9x9,5)

Crossheaded screw (M3,5x4)
Tropicalized hex socket screw

(M5x16)
Adhesive foam strip (d.15x3)
Crossheaded self-forming screw

(M4x8)

Anti-condensation pipe fitting
Epdm O-Ring (7,6x2,62, 70 sh)
Kit of O-rings multi-functions
Gasket for flange with sample points
Burner (11 ramps)

Silicone fairlead (d.2)

Red peroxide epdm gasket (d.60)
Fan

Pump (15-50)

D.18 pipe, delivery

Plug for flange with sample points
Cap for hole d.80

Pressure switch locking clip

Clip kit

Stud (d.5)

NTC fast immersion probe

D.8 pipe, hydraulic assembly -

expansion tank

Flange with sample points
Manometer

Gas valve - manifold pipe (d.14)
Silicone fairlead (d.16)

Klixon thermostat 105 °C
O-Ring (34,0)

Kit of O-rings multi-functions
D.18 pipe, return

Epdm O-Ring (18,00x2,8, 83sh)
Kit of O-rings multi-functions
Gasket kit (3/8",n°50)

Adhesive for display

Flat pointed crossheaded self-tapping
screw (4,2x9,5)

Adhesive nameplate

Automatic vent valve

Lock washer (M4)

Pump body

Wall plug package (d.10x50)
Silicone fairlead (d.12,5)

Flow limiter (8 litres)

Flue diaphragm (d.41,5)

Flue diaphragm (d.40)
Crossheaded screw (M4x8)
D.h.w. NTC probe

Bracket for expansion vessel
Fixed washer

Casing framework

Flue hood top catch

Burner bottom deflector

Control panel push-button
Screw (M3,5x16)

SIT 845 gas valve with connections
86-fin exchanger

Rear ecological fibre panel
Front ecological fibre panel
Side ecological fibre panel

G20 11 ramps gas manifold
LPG 11 ramps gas manifold
Crossheaded flat pointed self-tapping
screw (3,9x6,5)

Combustion chamber front

Flue hood front cover

Combustion chamber mount

4411355

70
71
72
73
74
75
76
77
78
78
79
80
81
82
83
84

85
86
87
88
88
89
89
90
90
90
90
91
91
92
93
94
94
95
95

96
96
96
97
97
98
99
100
100
101
101

101
102
102
103
104
104
105
106
107
108
109
110
111
111
112
113
114
115
115
116
117
117
118
118
119
119
120
121
122
123
124
124
125

126

127
128

2.014262
2.014242
2.014082
1.014367
2.014263
1.028228
1.028230
1.026515
1.029730
1.011131
1.027737
1.028248
1.1175
1.4072
1.7908
1.7967

2.013935
2.014185
2.014027
2.014081
2.014489
nfs
3.012552
nfs
nfs
3.012552
3.015861
nfs
3.021696
1.028572
1.028555
nfs
3.021692
nfs
3.021694

nfs
3.021692
3.021695
nfs
3.021696
1.029561
1.028556
nfs
3.021696
nfs
3.021694

3.021695
nfs
3.021696
1.028243
nfs
3.021695
1.028645
1.028570
3.021689
1.1176
1.027277
3.A1363
nfs
3.021695
3.020380
1.027108
1.028548
nfs
3.021695
1.028561
nfs
3.021696
nfs
3.021695
nfs
3.021695
3.021690
1.026988
1.0153
3.020381
nfs
3.021696
1.2337

1.2265

2.014465
1.010500

Lx air deflector

Grid for exchanger

Cover, sealed chamber
Crossheaded screw (M6x18)
Bracket, frame stiffening
Control panel bezel

Control panel back cover

Gas valve connector

Silicone fairlead (d.6,5)
Fairlead (d.8)

Ignition and modulation board
Plastic hinge

"Rapid fix" self-tapping screw (3,2x13
Clip with clamp screw hole
Black cable clamp
Crossheaded self-tapping screw
(3,5x19)

Valve supporting plate

Pipe fixing flange

Frame

Sealed chamber side panel
Sealed chamber side panel
Gas nozzle washer

G20 gas conversion kit

Gas nozzle (d.1,35)

Gas nozzle (d.0,79)

G20 gas conversion kit

LPG gas conversion kit
Metal-sheet clip (d.9)

Clip kit

3-way valve motor

Return manifold

12-plate exchanger

12-plate exchanger kit

Pump coupler fitting

Two pump coupler fittings with o-ring
kit

Heat exchanger gasket
12-plate exchanger kit

Kit of O-rings multi-functions
Clip

Clip kit

Hot water outlet pipe (d.14)
Inlet sanitary water body

Pipe clip (d.18)

Clip kit

Peroxide epdm O-Ring (17,86x2,62)
Two pump coupler fittings with o-ring
kit

Kit of O-rings multi-functions
Metal-sheet clip (d.13,5)

Clip kit

Frame

Nbr O-Ring (11,91x2,62,70sh)
Kit of O-rings multi-functions
Hex socket screw (M5x45)
Flow switch

By-pass complete cartridge
Crossheaded screw (M5x8)
Absolute pressure switch
Gasket kit (1/2",n°50)
19.8x3.6 O-ring

Kit of O-rings multi-functions
Complete cartridge

Drain fitting

Housing, outlet manifold
Epdm O-Ring (13,94x2,62, 70 sh)
Kit of O-rings multi-functions
Safety valve (3 bar)

Motor locking clip

Clip kit

Nbr O-Ring (3.63x2,62,70sh)
Kit of O-rings multi-functions
6x2 O-ring, epdm

Kit of O-rings multi-functions
Pump group

Filling knob

Crossheaded screw (M4x6)
Filling valve group

Outlet manifold clip

Clip kit

Crossheaded self-tapping screw
(3,9x25)

"Rapid fix" self-tapping screw
(3,2x9,5)

Expansion vessel bracket
Spring pipe clamp for silicone pipe
(d.22)

4411355

4411355

129
130
131
132
132
133
133
134

134

1.030173
1.030602
1.8403
nfs
3.021695
nfs
3.021695
nfs
3.021696

Adhesive foam strip

Hex socket screw (M5x16)
Stainless steel mesh filter

Peroxide epdm O-Ring (19,00x2,00)
Kit of O-rings multi-functions

Epdm O-Ring (2,57x1,78, 70 sh)

Kit of O-rings multi-functions
Clipd.2,5

Clip kit




